Y3V 18n0q NJ J] -
fysvowsnay svans I HY 42 12 - 0002491 @m v
260 F SVIONY 1231044 40 374 321S 133H;
o LEQQI B - e M\. L S S
G07 G80E 5l i 957 s WM STIVIARS s 202/60/0) MDY G | AG G0Ny
2'0F 02] 01 dn 0§ &3IN0
OG5 B 207~ 0 o - & TR \izozssoss0| mswianay 9 | 4g aawo3n)
mvwzik LHOIIM |NOISINZY ONILSIT g “..n_l_\pxlkg 1202/60/80|  Nvosow 0 4G NMVEG
¥ \NQN\UQ\%qu mw._.m O O m ﬂ_ w m % 1202/20/60  NvosoW O | AG GIN9ISIg
2/¢2 FENIYNITS VG SHYRENS
F240002-8I1 ATGWISSY TVHINTH (i s0)
SIGHAN LV LYV 40 F1L1L TVIITLY I
OW LON-1 900105 7£1 /
1708 GNT 089922927 /
43dd0LS AN 06£992927 /
¥3GT0H 029982927 /
SIHSVM LINIT 059162927 Z
GXGGX0S ONIFIS 6/22080¢1 Z
SIHSVM LINIT 082992927 /
JIGHOSEY HIOHS £009029¢1 Z
X207 LIWIT 057992927 /
Y3JIOLS NMOG NIVHD SdJ 000/-821 /
HOHINY GNF av3g v3d 000/-801 /
NIVHD 1SI0H NIVHD 12 X |/ /
Y2078 Wollog 84 0002-401 /
1IN[] ST 14 0002-421 /
VEE] NOILdI¥ISTT SFGWIN L&V ALO

1817 S18vd

DISNIInEY 9 | 2202/10/81 |0

G3N08ddV | F1va

WEE]

AYOLSIH NOISINTS

041

29

241

041

NIW G685

/£

Z

Sl

g8l




HY 42 12 - 000240 =
1237044 40 111/ 3215 13HS
I 1202/00/08) NIVLY g | Ag 0IN0¥Y

ONIMVEG STOVTTY

2y 6¢ 0 - “’q' el VN 1202r0/92] wosion m | Ag a3k
LH91IM |NorsiAzy 9 g “u.o..ﬂﬂ( 2(/202/£0/€2]  NVOHOW O Ag NMvag
LI TN NI 35 SNOISNINIG TTY //0/ i
031410345 ISIMITHLO SSTINA \NQN NQ M,N m m h. m O O I n— w z &2 | 0202/21/22)  NVOSOW O Ag aanaIs3g
SsTINn__| avg

2l /£ SLVROTS IVg TS
na 0002-891 LIN) NG canarvanos s0)

YIGWIN 18V

SUIN

1V 40 FTL1L TVINFLVIN ERleS

IISNIdNGY "9 | 2202/10/81 | 0
G3N05ddV | Fiva | /35

AYOLSIH NOISINTS W\QIN,UMQQQQ Z\q}\w Mv V\QQ\J\ Q\QIN E\b \NQ QQQNIN\QIN




XSV 18nod NI H/
&z SSINHINOY FIVHHNS
0G0 F SVININY

SIEHON TT140%

HY 42 12 - 0002491

(=
1231084 40 3711/ \FZIS 13FHS

T N R e R N N 1 R N N R R R R N R R R 1 R PN N R 1V S A N PN Y A R RS R

HOLI2FTIOD NIVHD 8 MOOH dOf M/I 11d 0002-4I1

. IF 000] 4340 ; -
ww.wwmm\w % % mm\m%%“% NIMVHG STOVTATY - " ’ = w22 200/00/08)  NIILY G Ag GIN0¥ddY
4 230 o & A% » m
A@W@W&nﬁ&m 2ai0 92y 6¢ 0 - - et 2, “ 11202/£0/92]  NOSISOW M | Ag aINOIHD
sy L1913/ |NoIsInZY ONILSIT g 1202/00/52]  Nvosow O | Ag NmMvEG
4 TSR0 SE \NQN\NQ\MM« o 43l m O 0Od d3y 0202/21/22  Nvo¥OW ‘O | Ag aIN9ISIG 08/
alr/ v TALVNOTS e EZS
1a 0002-421 1IN NEq SUN
SIGHAN LV LYV 40 F1L1L TVRIFLY ERleS
W LIN-] 800/057¢1 L7
SW YIFHSYM 800/0£1€] 97
Nid NIOo_> YOOH 086982927 Sy
HIHSYM 054192927 £7
GZX8W MIHIS dVI aVIH L3HI0S XIH G2080/1€1 \NM
OIW 4NN N 0101057¢]
Ol d3FHSVI ONIZIS 0/010£1€] 07
07X0]IW M3H2S IV aVIH 13¥00S XIH 07001Z1£1 6g
ONIIdS HOOH 9702080<]
W LON N 700105 7€/
82XV MIHIS dVD GVIH 13%¥I0S X3H 82070/1€/
TV13) YOOH d3ddf] 0/6982927
YOOH 144579027
MVT) A134VS ¥OOH /1dS79027
1NN X3H 8W - 686 NIG
SIHSVM 78V - 62l NId
0 H0123770) NIVHD 01037700 NIVHD
M3¥OS IV GVIH JFANITAD G2 X 8W - 2I6 NId ~
FIHSV ONIIS 8 - 086/ NIG W
M3¥OS dVD GVIH JFANITAD 02 X 9W - 2I6 NI
JIHSVM_INIIS 9 - 086/ NId
JIHSVM 79V - 82 NI

0 13%2V¥g J0123T100 NIVHD 20-88-000/1401
0 13%2V¥g J0123T100 NIVHD /0-89-0001421
9-S INIF-0 700£01/€1
O YIFHSYM 900/05/S/
G-J 9NIY ININIVLIY G00£0£08]
EEOERIZE] 18922927
HIHSYM 054122927
Nid AFTTS 022922927
0ZXGW M3d0S 135 134008 X3H 2108012<]
ATV T04INOD A0 000I-401
HO10W Sy WV 000/-891
ZIX9W M3FIS dVD VIH 13¥20S XIH 2109021¢1 N
INITIN0D 002722927 S
Y01 VIIIIS NIVHD 09£99292%7
X085v39 g9 000/-491
G7-S ONI& ONINIVIIFE G7020£0¢/
6009 9NI¥V3G 0/07010<]
¥IDVdS 082722927 £
OIX8IW M3¥IS dVD GVIH 13¥I0S X3H 9/080/1<] 9
JI1Vay 099992927 g
REEL 00£99292%7 7
30IN9 NIVHD 16£992927 £
G/69 ININVIG SG10£110€] Z
INISNOH TIFHM 212722927 /
N3y NO/LdI4IS3a SFEWIN LSV ALO W31 mm_mr
1SI7 S18Vd - ¥0123770D NIVHD § ¥OOH 401 M/ 10 000Z-401 L
[
: % m
©w
N

98/

96/

041




XSy 18nod NI H/
&z SSINHIN0Y FIVIINS

YIGNIN TTIH04d

260 F #vInoNy
| F 0001 ¥310

1231084 40 3711/

1974

3215 133HS

ONIMVEG STOVTTY

F
10F g5 o1 an G w310

etz 200/00/6))

Ag G3N0¥ddY

%ol & % 88 0 s s vy T 1202/50/8) A GO
HERTIOT QE&M‘_QWM“& ANILII o 2| 202/c0/9) A8 NMYEQ
IWITIN NI 38V SNDISNIWIG TTY —
m&wmmwtcwmm mwwiwpe qmmwmmwﬁ 1eozr. a1va m m h. m O O I n— w z ﬁ 0202/21/22) Ag aaN9IsIg
171 TALVNITS e
g9 000/-491 X084V39 cunarennos s0)
SIGWON L8V L1V 40 F7L/L
O07X9W M3IHIS dVI aVIH LIHNI0S XIH 07090//£1 7
300 INvag 017722927 /
££0-89G6SV INIH-O £0/111€1 /
ZIXOW M3¥IS dVD aV3H 13005 X3H 2109021€1 2
9-d INIY-0 70010111 /
7-S 9NIY-0 200£011€1 /
&3N0) NOISId 127922927 /
INIFS ISIT £122080€1 9
270-895SV INIH-O 270/111€1 /
NOLSId NG 107722927 /
25Iq INvalg 087922927 /
ATY 1808070</ 2
G0/-S 9NIY-0 G50£011£] Z
Z1-S ONIg ONINIVIZY 21020£0<] £
ZC-H ONI& ONINIVIZY 2£0]0£0<] Z
G/-S 9NIY ONINIVIZY G1020£0£7 £
NOINIH 062992927 /
2009 9NI¥v3Ig £007010€1 2
Nid 092992927 £
V7700 1SNIH] 0£299292% 9
82-H NI ONINIVLIN 82010808/ 9 6
1009 9NI¥V3g 2007010£] 6 8
¥VID VIS 062992927 £ £
ECLS) 0972992927 / 9
8069 9NIFVIg 800£110£] Z s
OIXGW M3NIS dV) aVYIH L3H00S XIH 01050£1£1 9 7
Nid 13m0 07£992927 7 £
HVI9 INIY 02992927 / 2
ISVD ¥vI9 01£992927 / /
N3 NOILdI¥2S3a SFGWIN L&V ALO W31

SNy 9| 1202760752 |0

G3N08ddV | F1va

WEE]

AYOLSIH NOISINTS




3SV 16n0G NI 3] -
§z SSINHIN0Y 3IVHINS SIENIN FT14050 M. V\
oS0 F ¥rIONY 1231044 40 37114 3215 LFIHS
07 450807656 wano N e 202/00/9) Ag aan0uddy
6270 F00S 01 dn 0Z] ¥30 IONIMVYF SOV IdT
20 F 02] 01 9N 0F ¥3/0 - - " =
O F 05 0L G 4ano MZG 0 i oy s v 2 ‘ TRV rz0zrcort) Ag a003H)
kw_wzik LHOIIM |NOISINZY ONILEIT ’ % 120276079 18 NMVEG
P ansas semasite S| \NQN\MQ\N o 4315004 a3y oS 22 | 020272101 A8 aanoIsag
171 TALVNOTS e
WV 000/-401 cangano3 s0) SIN
SIGWON L8V L1V 40 F7L/L ENES
SLXEW MIHIS dVD avIH LIHI0S XIH §2080/1€1 £ 7l
GI-S INIY ININIVLIY S51020£0£1 / £/
2069 INIIYIG 200£110£1 / 2zl
FLVTd LNOYA 141722927 / /A
JOIVIS 191922927 / ol
INIFS 1317 5£22080£1 8 6
INV/ 0212014£1 8 8
62-S INIY-0 £20£011£1 / Z
JINIVITY SVI 161922927 / 9
2009 9NI¥VIG £007010£1 / S
J010Y 161722927 / v
Nid YIONY 1802070€1 / £
ZH 0IXY Nid 13TTv8vd 50090%0¢1 Z Z
FIVd VIS V81722927 / /
VEE] NOILdI¥ISTa SFGWIN L&V L0 EN

1817 S18vd

SNy 9| 1202760752 |0

G3N08ddV | Fiva | A3

AYOLSIH NOISINTS




XSy 18nod NI H/ -

&z SSINHONO0Y FOVAINS SIENON FT1405 @ m M. V\
0G0 F SVIONY 1231044 40 37114 3215 133HS
07 4008047 656 wano 3 o o I 202/00/6)  NIILIY G | A8 030Ny
620 F00S 01 dn 0Z] ¥30 IONIMVYF SOV IdT Tl —
20 F 02] 01 In 0F ¥3/0 5 ~ Sy - " =
P0G ol 5 ML 0 = b e ¥ i B Z VN 1z0z7c0/9)  Noswson m | 4g aao3HD
YvInT LHOIIM |NOISINTY ONILEIT “‘ — N
Va0l ! \Eoa L 22| 1202/c0/2)  Nvosow 0| Ag nmvag
¥ \NQN\MQ\NM\K o m m ._. m O O m ﬂ_ w m % 0202/21/12]  Nvosow 0 | Ag aanoisag
171 TALVNITS e THVNITS
NI 0001491 FNTVN TOYLNOD (wnaroinos s0) SIN
SIGHAN LV L1V 40 F7L/L CER ERleS
ININIVS FNTVA 191201951 / 25
INIHSNG L3N] 090£0/7¢/ / /9
HINTT LIWIT 07/72292% / 08
OIXGW M3HIS INIHIVI AVIH LVA XIH 0105082¢/ 7 67
Y300 ¥3AN[] 009522927 / 87
ININDV S dFAN] £9/120/19¢1 / L7
2l Nid dYNS 21006201 / 97
EELRZ] 06/52£927 / s7
09X9I M35 dv) aV3H 134203 X3H 09090/I€1 < 77
07X M3&IS dVD avaH 134208 X3H 07090151 < 7
8/1 9N7d 3did 13%20S XIH. £002067£] 7 27
8G-H 9NIN ININIVLIY 850/0£0¢1 / 17
YIINITS 1SNVHXT 0£0207/5] / 07
JIINTTS NOTAN 1£0207.€1 / 6§
&3/00 d01 0£0%22927 / 8¢
INDIDVS d01 2912019¢1 / L8
NFFHIS L3N Z/1 2£0£089¢/ / 9¢
8W LON-] 800/057¢1 / G¢
437708 LIWIT 0£19722927 / 78
14VHS ¥37704 021722927 / £¢
0/-S ONIY ONINIVIIS 01020£0£1 / ¢
¥INTT NIVHD 011722927 / /£
OW LON XIH 900£077¢/ / [
GEXOW MINIS L3S AVIH L3408 XIH GL090£2¢] / 62
SZXOW MINIS dVD aYIH L3H00S X3H 62090411 7 82
(&) ¥3/00 3aIS £60972292% / 12
(7) ¥3/0) 3aIS £8072292% / [
(N) ONDIOV 3aIS 79120195/ Z s2
1NN IIvdg 16092292 / 72
7'ZX65XG] ININIS 9122080¢] / £2
GZ-H 9NISY ININIVIIY §2010£05] / 4
JINIVLIY INVEg 17092292% / 1z
INIHSNG LIWIT 052722927 / 24
700dS IHNVEG 120922927 / 6/
INIHSNG INVHE 072922927 / 8/
0IX% Nid 9NIZIS 01070901 2 Y4
92-S INIMY-0 120£011£1 2 9/
XS MIFIS INIHIVIN QVIH SIITTIH 800509251 Z S/
1V3IS INIHIS 042922927 7/
9 °ZXGZXG 6/ INIIIS £122080¢1 2 £/
NOLSid 700dS 092922927 Z 2/
7£-S INIY-O £20£011€1 2 /!
9-S INIM-0 700£0/1€] Z o/
0£-S INIY-0 720£0/1¢] Z 6
YIANITAD 100dS 020922927 Z 8
700dS NIVI £10922927 / £
82-S ININY-O0 220£011£1 Z 9
ONIHSNG NIVI 0£0%22927 / [
1VHS 1IN 097922927 / 7
ZIXOW MIYIS VD aVIH LINI0S XIH 21090411 Z £
3419 1IN 101722927 / 4
Adog IATVA £9072292%7 / /
N3y NO/LdI4ISIa YFGWIN L&V ALO WAL/

1817 S18vd

DISNIInEY 9| 1202/80/%2 |0

GIN08ddV | Fiva | A3

AYOLSIH NOISINTS




SV 1870q

§z SSINHIN0Y 3IVHINS
G0 F ¥VINONY

WEl -

YIGNIN TTIH08d

1231084 40 3711/

O

1974

321S 133HS

.7 Joo80'47 465 szno 2B 1202/60/7|  NIWLY g | Ag aanosdy
6270 F00S 01 dn 0Z] ¥30 IONIMVYF SOV IdT —
2'0F 02/ 04 dn 0€ ¥3N0 . -
OG5 B M7 0 ““q TR | 1zozs60/)) mswianay 9 | 4g a3w03n)
mwwzik LHOIIM |NOISINZY ONILEIT g “ut..ﬂdtl.\nu 1202/60/¢0  wvowow 0 18 NMVEG
et s 1202/60/0 | 431S500H A3Y . 22 | 0siond weosow 0 | A8 aanoisza
171 TALVNOTS e TS
88 0002-421 Y0079 woilog SUN
SIGWON L8V L1V 40 F7L/L CER ERleS
0ZX0IW M3HIS dVI aVIH 134208 XIH 02001£1£1 2 9/
OIW 40N 11 010105 7£] 2 Sl
OIW YFHSYM INISIS 0/0101€] 2 Vi
GIXOIW M382S dV) aV3H 13490 X3H S§7001/1€1 Z </
011G ONIFVIG 1SNEHL 8011210£] / 2l
ONIY LSNIH] 014982927 Z /"
HIN0D VLI HOOH ¥3AN[] O0HO99802%7 Z o/
14VHS V13N YOOH ¥3aGNJ] 010998027 / 6
INI¥IS HOOH 9702080£/ / 8
W LON 11 7001057¢/ / Z
NOOH 144879027 / 9
MVT) A13FVS YOOH 114579027 / g
82X MIFIS dVD aVIH 134908 XIH 820%0L1¢/ / 7
779029 9NIFvIg £006010¢] Z £
V13 YOOH d3aN7] 065982927 Z 4
TIIHM NIVHD 33 08100927 / /
VEZ] NOILdI¥ISTT SFGWIN L&V ALO WAL/
1S17 S14vd
8
>
=
7
DNE

DISNIINSY "9

[ 2zoz/i0/87 10

dIN0HdIV

[ Fiva 17234

AYOLSIH NOISINTS

1z




$% RED ROOSTER
(. LIFTING

Pendant - VRD-2R

DO01-P7 REV1 = Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 OEZ = Tel: +44 (0) 1651 872101 =




LIFTING

Pendant - VRD-2R

z% RED ROOSTER

Fig. No. | Part Number | Part Name Parts
Per
Hoist
131705008 HEX. SOCKET HEAD CAP SCREW M5X8 | 1
2 420228VRD | PENDANT VALVE ASSEMBLY 1
2A 420218VvB0 | THROTTLE VALVE 2
2B 420228VR0O | VALVE BODY 1
2C 420218VF0 BUSHING 2
2D 420223W40 | LEVER D 1
2E 420223W30 |LEVERU 1
2F 130402053 LEVER PIN 1
2G 130802220 SPRING 6X14X0.6 2
2H 420228W50 | FRONT CASE 1
2J 420228W60 | REAR CASE 1
2L 131705010 HEX. SOCKET HEAD CAP SCREW 1
M5X10
2M 132405014 PHILLIPS PAN HEAD MACHINE SCREW | 3
M5X14
2N 132904220 PHILLIPS PAN HEAD SELF-TAPPING 6
SCREW 4X20
2P 132105005 HEX. SOCKET SET SCREW M5X5 4
2S 131109001 O-RING S-3 (HS90) 2
2T 131103008 O-RING S-10 2
2U 131103009 O-RING S-11.2 2
2V 420224V61 EMERGENCY STOP VALVE 1
2w 420228V50 EMERGENCY STOP BUSHING 1
2X 136690503 EMERGENCY STOP BUTTON 1
2y 420228W00 | PUSH ROD 1
2AA 131103002 O-RING S-5 2
2AB 131103004 O-RING S-6 2
2AC 131103008 O-RING S-10 1
2AD 131103009 O-RING S-11.2 2
2AE 130303004 RETAINING RING E-4 1
2AF 304P 1/8 BSP TO 6MM PUSH FIT ELBOW 1
2AG P118 6MM PLUG IN ELBOW 1
2AH P087 1/8 BSP TO 6MM PUSH FIT 3
2AJ DRG- 2 STATION PENDANT BRACKET 1
SI10394-T2
2AK 113/1 HEX. SOCKET HEAD CAP SCREW 1
M6X16
2AL 113P HEX. SOCKET HEAD CAP SCREW 1
M6X20
2AM 145P FLAT WASHER M6 5
2AN 139P NYLOC NUT M6 2
2AP P245 6MM TO 1/8 BSP BULKHEAD ADAPTOR | 4
2AQ PO71/1 1/8 BSP HEX NIPPLE C/W 60° CONE 4
3 426230F1B | STRAINER WIRE 1
4 1/4-HOSE 1/4 ANTI-STATIC RUBBER HOSE 4
4A P016/1 1/8 BSP TO 1/8 HOSETAIL SWIVEL 8
4B P002/1 1/4 HOSE FERRULE 8

DO01-P7 REV1 = Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 OEZ = Tel: +44 (0) 1651 872101 =



$% RED ROOSTER
(. LIFTING

Pendant - VTP2M

D01-P2 REV1 = Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ = Tel: +44 (0) 1651 872101 =




o
&

RED ROOSTER

LIFTING

Pendant - VTP2M

Fig. No. | Part Number Part Name Parts
Per
Hoist
1 105P M4 X 20 CHEESE HEAD SCREW 2
2 E/STOP/GUARDO1 YELLOW E-STOP GUARD 1
3 113/1P M4 NYLOCK NUT 2
4 BIK3206P-BS54 EMERGENCY STOP BUTTON 1
5 304P 8mm TO 6mm BANJO 4
6 P118 90° ELBOW 6mm 2
7 P112 4 WAY JUNCTION 1
8 301P 8mm TO 6mm REDUCER 1
9 BIK-3209-P-VALVE PENDANT VALVE 2
10 P087 1/8" TO 6mm PUSHFIT 2
1 TP/HOUS/M 2 STATION MACHINED PENDANT 1
12 BIK-3209-294-B-COVER | COVER FOR BIK VALVES 2
13 XAC-B-LEGEND-UP UP LEGEND 1
14 XAC-B-LEGEND-DOWN | DOWN LEGEND 1
15 P245 1/8" TO 6mm BULKHEAD AND NUT 4
16 DRG 2652-01 PLATE 1
17 PO71/1 1/8" BSP NIPPLE C/W CONE 4
18 112P M6 x 20 HEX BOLT 2
19 P117 8mm BLANKING PLUG 1
20 139P M6 NYLOCK NUT 2
21 145P M6 WASHER 2
22 P016/1 1/8" BSP SWIVEL TO 1/4" HOSE TAIL | 4
23 P002/1 1/4" HOSE FURRULE 4

D01-P2 REV1

= Red Rooster Lifting Limited = Nauta House, The Meadows, Oldmeldrum, Aberdeenshire, AB51 0EZ - Tel: +44 (0) 1651 872101 =




